GRADE 8 JUNE 2018 MEMO

1.1.1 | False 1A
1.1.2 | True 1A
1.1.3 | True 1A
1.1.4 | False 1A
1.1.5 | True (5) | 1A
12 |16=2" 56=2°x7 2A
_ b7 _
LCM =2"x7=112 4) oA
131 6-4-3=-13 (2) | 2A
1.3.2 (—6)—(—8):—6+8:2 (2) |1A+8 1A2
133 | 100+5=10+5=15 2) [1A10 1A15
1.34 g/a+33:4+27:31 2) 1A 4427 1A 31
135 ] J125-8% = J125-25 = /100 =10 () | 1A 100 1A 10
1.3.6 (_3)3+ 3/_27 =_-27--3=90 (2) 1A sub step 1A
2. i) 8
i) 3
i) -21
iv) -21
v) -15
vi) -5
vii) 2
viii) -6 (8) | BA
3.1 0;-5;-37:;12;27;36 @) 1A 15t3
Order —37:-5;0:12:27; 36 1A last3
1A order
32 | 143x(-2)"=1+3x4=13 (2) | 1A substep
1A 13
3.3 —6—(—5):—6+5:—1 (2) | 1A statement
1A
3.4 -12-18=-30 (2) | 1A statement
1A
35 | (-)(-)(-D(6)(-7)=42 @ [ 2A
3.6 42 +-7=06 (2) | 1A statement
1A
4.1 4 5 32 25 1A
—_t =4 —
5 8 ;1;) 40 @3)
== 1A
40

1A




4.2
g_03_6_1 1A
4 1 4
24 11
=——-— 3
22 3) | 1A
_B 1A
4
4,
S PEP TN 2A
3
99 3)
2? 1A
44 1el,, 18,2 1A
2 2 1
13 1
= — X — 3
5 %3 3) | 1A
_B3 1A
4
4.5 1Y (6Y 36
1=] =| =] === 2
5] (5] -2 @ | 24
5.1.1 | True
5.1.2 | False
5.1.3 | False
5.1.4 | False (4) | 4A
52117
522 |4
523|-3 (3) | 3A
6.1 | 3abc=3(-1)(2)(-3)=-18 (2) | 1 substitution 1A
6.2 a2 —2b3+02 :(_1)2 _2(2)3+(_3)2 1 substitution
=1-16+9 4) A
-_6 1A
63 | a-b-c=(-1)-(2)-(-3) 1 substitution
=-1-2+3 (3) 1A
=0 1A
7.1 X+ X+ X =3X (1) | 1A
72 | a+b—-2a+5b=-a+6b (2 |2A
7.3 | 2a’hx3ab® =6a’h* (2) | 2A
74 | —(-2x)" =-(16x*)=-16x" @ |2A
75 4,2
Bor =2 @ |2
7.6 [_4)(]3_(__1)3_ 1 @) 1 sub step
16x> 4x 64x° 2A




1.7

5

-2pq° x3p°g®  -6p‘q®  —pg

1 sub step

= = 3
12p3q3 12 p3q3 2 ( ) 2A
79 49X9 — 7X4,5 (l) 1A
7.10 | 18x®y +9xy? —3xy
=6x+3y-1 3
3y y 3) | 3a
8.1 |4(a+2)=4a+8 (2) | 2A
82 | —x(2x—3)=-2x"+3x ) | 2A
8.3 | 3x(x+3)-15x =3x" +9x 15X ) 1A
:3X2 —6X 2A
84 | 6-2(x+3)-3=6-2x-6-3 1A
3) | 2a
=-2X-3
8.5 a(a—2m)—3(a2+am)=a2—2&n—3a2—3am @ 2A
=—-2a%—5am 2A
911 ]| 7x=-21 )
X=-3 2A
9.1.2 | 3x+5=17
3x=17-5 ; 12
3x=12 )
Xx=4 1A
9.13| 6X+3=3x+12
6x—3x=12-3 . iﬁ
3x=9 “)
Xx=3 1A
9.2 L=B+C - A
X414 X—2—X (3) 2A  expression
=x-1

1A




